Quick-Build Starter Kit

List of Components

Part Number

Description

Quantity Included

Package Identifier

Main Quick-Build Components

QB-TILE (8/PK) Quick-Build Tiles 8 Box #1
QB-MOUNT-L Quick-Build Mounting Pegs 30 Bag #1
Quick-Build Mounting Platforms

QB-BASE175-Q 1-3/4" Mounting Base for #6, #8, and 1/4" Screws 10 Bag #2
QB-BASE120-Q 1.2" Mounting Base for #8 Screws 10 Bag #3
Traditional Harness Board Accessories

BR.5-E6-C 1/2" Bundle Retainer 2

BR.75-E6-C 3/4" Bundle Retainer 4

CPH.75-58-X 3/4' Corner Post 2

WEH-E8-C Wire End Holder 10

RER.5-56-X 1/2" Elastic Retainer 3

RER.75-56-X 3/4" Elastic Retainer 3 Bag #4
RER1.25-56-X 1-1/4" Elastic Retainer 2

PBSC1-X 1" Spring 1

SHH1-58-X 1" Spring Holder 1

QB-S6-500-C | Quick-Build #6 Screw 1/2" Long 28

QB-58-500-C Quick-Build #8 Screw 1/2" Long 24

QB-58-750-C Quick-Build #8 Screw 3/4" Long (for Test Fixtures) 10

Nails and Nail Bases

HBN1-T 1" Nail 12

QB-FN1-Q Five Nail Holder for 1" Nail 2 Bag #5
QB-SN1-Q Single Nail Holder for 1" Nail 2

HBN2-T 2" Nail 30

QB-FN2-Q Five Nail Holder for 2" Nail 5 Bag #6
QB-SN2-Q Single Nail Holder for 2" Nail 5

HBN3-T 3" Nail 12

QB-FN3-Q Five Nail Holder for 3" Nail 2 Bag #7
QB-SN3-Q Single Nail Holder for 3" Nail 2

Revision: September 21, 2015




